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What's the difference between Schwa (/a/) and Wedge (/a/)?

In this research a challenging question which troubles many people when they’re first
learning to use the International Phonetic Alphabet (IPA) is discussed: What is the difference
between the Schwa (/a/) and Wedge/Carat/Caret (/a/) symbols, and how can you tell which
is which in transcription?

The basic idea of the IPA is that every sound used contrastively in language should have one
symbol associated with it. This makes sense and is quite true until we come upon a phonetics
textbook which has something like the following for descriptions of the different English
vowels:

/n/: Used in words like “cut”, “mutt”, “butter”, “nun” or “luck”
/3/: Used in words like “sofa”, “photograph”, or “adore”
WSl Jla 5 . UM (lha 4 A8 g O LT AS o Ui cl s 4819 A () (ol 9l AdLES QA Gl A 2

WSl 5990 53 A8l (gl Alad Gl iy o) “put” (/pust/) AalS 3 Ll 5ns Cnab Agad Sl “look” AalS ja 4s) g
S [uf

Sl fizf] O g Al g sag Sy “free” s “me” (/mif) s\ AalS ja AS) g quli S Gnab 4y
L 9l (/a]) slmal “cut” slila o) 4alS 0 “Uh” O (I A4S “rust” AalS )3 (o) ASly oyl i L)

$ Gl A8 (fa/) Sk ASIg L “sofa” 4alS 3 “uh” slua



Vowel Differentiation : For every other English vowel, we choose the proper symbol
based on how the vowel sounds. The vowel in “look” sounds a lot like the vowel in “put”
(/put/), so it too must be an /u/. The vowel in “free” sounds like the vowel in “me” (/mi/), so
clearly, that’s an /i/ vowel. But what do you do with the vowel in “trust”, which sounds like
both the “uh” in “cut” (/a/) and the final “uh” in “sofa” (/3/)?

The very first step is to stop trying to hear a difference between /a/ and /a/.
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Acoustically, for speakers of General American English, there’s little to no difference between
the two, and trying to listen to one will only bring you pain.

In fact, /a/ is a vowel unlike any other in the English vowel inventory. It’s not described (and
differentiated from /a/) phonetically, based on its sound or production, but instead, /a/ is a
phonological beast, arising from the sound structure of the word, the type of speech, and the
speaker’s desire to minimize time spent on unimportant sounds.

To examine this idea, let’s do a little experiment: Say the word “photograph” as slowly and
carefully as you possibly can, paying attention to that middle vowel (before the “graph”).

Some of you likely still pronounced the middle vowel as an “uh” (/a/, giving you /'foutagaizef/
or /'fouragizef/), even when speaking very slowly and carefully. However, | bet there is a
large number of you who drew out that middle vowel and said “foe-toe-graph”
(/'foutougazef/) even though in actual speech, you’d be very unlikely to say it that way. Either
way, you likely didn’t feel very confident about what that middle vowel was and how it was
pronounced. The vowel in question here is a Schwa (/'fouragaaef/).
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Now a similar experiment: Say the word “fluctuate” as slowly and carefully as you possibly
can, paying attention to that first vowel (before the “tuate”).

Here, if you're a native English speaker, it’s unlikely that you said anything other than “fluck-
chu-ate” (/'flaktfueit/), the first vowel matching that in “duck”. There’s no “other”
pronunciation that comes to mind, and where you might have paused for a second with
“photograph” to ponder that middle vowel, you likely had no such concern here. The first
“uh” vowel in “fluctuate” is a great example of wedge (/n/).

So, somehow, the identity of that first vowel in “fluctuate” is beyond question, but the
“proper” vowel in the middle of “photograph” is more open to interpretation, even though in
connected speech they may sound the same. This ambiguity, one vowel which seems to be
able to have two different identities, is why we need schwa.

The difference between /a/ and /a/, at a fundamental level, is that /3/ is a reduced vowel,
whereas /a/ is a full vowel.
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Vowel reduction is a phenomenon that happens around the world, according to different
rules for each language, but the basic idea is that we simply don’t need to fully articulate
which aren’t stressed in the word, so we do something there which requires less effort. Put
differently, If we have a choice between fully articulating an unimportant vowel and just
producing something which requires relatively little articulatory targeting but gets the job
done, we’re going to take the easy way, and that easy way is /3/.

We don’t particularly care what each /a/ sounds like, and as such, we just make something
vaguely in the center of the mouth, sometimes a bit higher2, sometimes a bit lower. A schwa
is a vowel that we produce just to have produced a vowel, the vowel we produce so we can
move on to a part of the word which is more important to establishing and communicating
the identity of the word. We make a /a/ because we’ve got better things to do than
pronounce the middle vowel in “photograph”.

Compare this to /a/. In words like “cut”, “nun”, “functional” or “sputter”, the “uh” vowels are
full vowels, living in stressed syllables, and their identity is integral to the word itself. Fast
speech, slow speech, really slow speech, that vowel is still just an “uh”. In General American
English, there is simply no way to say the word “cut” without an /a/ (still having it
recognizable to listeners as “cut”). The /a/ is absolutely essential to the word’s identity,
whereas /a/ is the surface result of a phonological phenomenon which reduces some vowels
in unstressed syllables. That, right there, is the fundamental difference between these two
sounds. It’s not the sound, but the origin of the sound.
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Differentiating /a/ vs. /a/ in transcription

We’ve already established that these two sounds both sound alike. But chances are, if you’ve
googled your way to this post, you’re doing an IPA transcription of a word, you’ve heard a
vowel that sounds like “uh”, and you’re trying to figure out if it’s a schwa or a wedge. Here’s
how:

First, you have to find the stress in the word. The stressed syllable in a word is the syllable
which is most emphasized and least reduced. Think of the sentence “the musician wants to
record a record”. In the act of recording (re-CORD), the second syllable is stressed, whereas in
“REcord” (the physical item), the first syllable is stressed. Here, the primary difference is
stress, and the vowels in the unstressed syllable of each are reduced.



Every word has at least one primary stress (which we mark in the IPA using /'/), and finding it
is relatively easy once you get the hang of it. We know that every word has a stressed
syllable, so for a monosyllabic word (a word with only one syllable), we know that the only
syllable has to be stressed. For multisyllabic words, you have more options. One easy way to
find the stress of a multisyllabic (containing more than one syllable) word is to try every
possible stress pattern. Let’s take the word “mahogany” (/mahagani/). First, put the stress on
the first syllable, really emphasizing it, “MAhogany”. Then try the second, “maHOGany”, then
“mahogAny”, then finally “mahogaNY”. Only stressing the second syllable (/ma‘hagani/)
sounds acceptable, everything else sounds strange or somehow “wrong”, so we know that
the primary stress is on the second syllable.

Once figured out where the stress is, figuring out whether the vowel is /3/ or /a/ is easy.

In English, vowel reduction only occurs in unstressed syllables. So, if your “uh” sound is
occurring in a stressed syllable, it can’t be a reduced vowel, so it’s /a/. If your “uh” sound is in
an unstressed syllable, it’s likely a result of vowel reduction, so it’'s a /a/.
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Sentence-level reduction

So far, we’ve been talking about this at the word level, but if you pay attention to connected
speech, you’ll notice that lots of vowels (and sometimes whole words) get reduced to schwa,
even if they’re just one syllable. These words tend to be grammatical words rather than
content words, words like “the”, “a”, “of”, and “to”. These words (and some others) get
reduced because they’re very easily predictable, and frankly, we don’t want to take the time
to fully articulate them.

For instance, in the phrase “l want to go to the park”, we don’t need to fully articulate either
“to” or “the”, we just want to get something out there that lets listeners know that those
words are there. So rather than the full version:

/a1 want tu gou tu 8i pask/
We reduce the grammatical words with schwas:
/a1 wana gou ta 99 pask/

These reduced grammatical words can be a little bit confusing for people who are thinking
about the “stressed/unstressed” idea above. They’re single syllables and thus, the only
syllable is stressed. However, compared to the rest of the vowels in the sentence, the “uh”
vowels in them are definitely reduced, and thus, they’re definitely /3/.

Aila (&3 93 [3] 4S5 omalS 3 8 Bl 3 3/ 5 fo~] 2u5a 2 OIS o)y W il T Agliia Gl
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/3~/ and /a-/: A similarly stressful distinction

In General American English, we have two rhotic vowels, /3-/ and /a-/ (“right hook reversed
epsilon” and “schwar”). /3-/ is found in words like “word” (/w3-~d/), “birch” (/b3-tf/),

“squirrel” (/skws-|/), or “merchant” (/'ms-tfnt/), whereas the /a-/ is found in words like



“butter” (/'bara-/), “later” (/leira-/), or “scatter” (/skaera-/). Both of these vowels sound like
“er”, and again, like /a/ and /a/, they can’t be distinguished by sound.

The beautiful thing about the /3-/ vs. /a-/ distinction is that it’s exactly the same as the /3/
vs. /a/ distinction. In stressed syllables, an “er” vowel is going to be /3-/, whereas in
unstressed syllables, you get /a-/. By learning to differentiate /a/ vs. /n/, you’ve also learned
to differentiate their rhotic counterparts, /3-/ and /a-/. Wonda-ful!
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